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W 24. ST 25 § 3000 G F1 T THETH T=EHG &7 Q1 T B T
SFAEHR Y Fora Gomd 10 cm TH 5 cm € 3 R 12 A R0 vafeq @ W@ @
T 8 F @ ?) i o fad T o & fafvr= Rafdi F w1 W e aen s9g
oot 7 @2 & Rafa F e 71 &2 ward e e Rafa F-w @2
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R
[+ e
W —>

x (d) x (e) X (0]

B R 2, 238 & IRy g_eg &3
B=3000G=3000x10"*=03T
FATPR W F §FFA A =10 x 5=50 cm? = 50 x 10~ m?
WHURT /=12A
P W T It 1=/ (AxB)
@ B=0.3k T =g &= 2fwm & 2
A=50x10"%im? 8%d IFex x R & B
AR I=12A
T amgf, 1=12(50x 107 ix 03k)
=-1.80x10"2jN-m
T amgel A e y A AR R
(b)B=03kT,A=50x10"*im?3q/=12A
ampef, t=/(AxB)=12 x 50 x 10" *ix 0.3k
= -180 x 102 jN-m
el x-3ve1 A oS e A R
(©) B=03kT,A=50x10"(-j)m23/=12A
amgef, 1=12(-50x107*jx k)
=-180x10"2 | N-m
ameef x-3&1 A Fonws e A R
(d) B=03kTA=50x10"*m?3/=12A
T8 AFFA I xy THAA ¥ & O 2381 S T=ad
- Amgf, 1=12 x50 x 107* x 0.3 =180 x 10”2 N-m
@ el A Ren 38 A Fonws R § 120° & a1 w R

(e B=03kT,A=50x10"*km?3R/=12A
Imgef, 1=12(50x10"*k x 0.3k)=0
(0 B=03kT A=-50x10"*km? 3R /=12A

g, t=12(-50x10"*kx0.3k) =0



WY 25. 7% TOHR Fusei gt 20 W ¥ it Rraad 41 10 cm €, WomE
TaHg & % wh & frs imm 0.10 T @ 3R S T F T & @
R Feet ¥ 5.0 A g TR vERa A @ A @,

(a) TS T T A FoT qrg7H AN 71 87

(b) TS T TR AT FT IROTH T 71 &2

(C)mt AT ¥ TRV FUSeh F TS TRA W AT A Fel 3itaa 7t
qe?
(TR 10°m? FTFY ¥ T i F I A ¢ sk R F g
TR @ 10° m R )
T TR S W A =AM n=20
FAER oSl B 3w r=10cm W 010m
JE &7 B=01T
TG & 791 §AG IR F T P G @
= 0=0°
oSl ¥ aRT /= 5A
(2) FvSeN B IOl = nlABsInG
=20 x 5 x ®(0.1)> x 0.1 x sin0°= 0 (-sin0° = 0)
b)) R I@gHl & w9 A § [ I W D F3
el W 7@ A R Rvda @ 70 R wE R
I PR FA 0@ 4 8
(c) TAF{HA & T N = 10%/m*® F2
TR & §3%d A=10"m?.
T T F=e(vy xB)
1= neAvy Fyq
I

d=—

neAl
= F=e-_'_-Bsin90°
NeA

01x5

Tt <102

=5x1005 N
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W 26. T RS N 60 cm et 2, Frwa s 4.0 cm € 3k frssi 300
¥ areh 3 TR €1 TRE HA GF 2.0 cm T, 2.5 g FAHA H AR THF
(% ¥ fie) a9 3 Taaq @ 21 oR @ RAfa # o o A e 3§ €1
AR IRARTH F THRR Q aTé AT GRT T g A2 | T @ o 9
6.0 A RgaorT wem FE ®1 fFw T it fige o) (Rae # fw R F
W) 79 RAfAw F Wi yafea I W AR 9K 9 q90?

(g =98m/s?

g aRfas & fag 6; it 5
fea 2, TS =60cm
e =4cm I O ]
Wl A & =n 1V VA
c Iw D

TS W¥d ¥ dR & W) A wE& =300

ar & forg, R @, a=g 4, =2cm

TN m =2.5 I, 9RT , = 6A

A wReEfda § a1 R, WRAfos & gy &=

B=}1 nl n=ﬁﬂ'\‘1@l____300x3]
° g 06 )
=4rx1077 x300%3 .y 0
06
R W) I 74, F=/,, (4, x B)l,, (1,85sin6) (i, en B € F190°R)
AR §R1 9fed 9 =mg
' 1,4, sin80° =mg
~7
exo.ozx4”*‘°oé‘3°°xal=2.sx1o-3x9.a e () )
-25x10"° x 98 x 06
108 x 47 x 1077
= 10836A

HE 27. feet Aedindiet 3t Foech = WRdg 120 1 3 mA 9t fega 911 vafeq
N W fadiy zofar 31 a9 3w A_Arfe F 0 /A 18 V W A
Neerizr ¥ FA w=la HO?

&1 fRa 2, R &1 v

R
G=12Q

IRAier A a1, =3mA=3x10"°A e |

T ¥R v =18V ) ,

(Y




7ed v R @ ARAfer & Aview A Aear Aeder A =_A@ wa
o @ R=[Il-6]ﬂ§rmftmmmzl

9
18
3x10°3

TR R =59880 hnfter H Avfimw ¥ w1 & 50 o~
R Aideniier & ol <qen Bl o TR B ]

gr1 vafRa & Bt R w1 TR R 7 W@ W
FH W g R

e 28. fred Adnditer 9 T w1 wRE 150 1 4 mA 6 fga aw v
M T 7E [T R et 21 39 38 ARt :1 0 | 6 A TR T ndtex
F FQ wrka wEN

T R R, e & fReG =150

ARArfer A g/, =4x 107 A; g1 IRWR /=6A

ey 3 a0 vk (Ive) ¥R 79 3 W W 98 Ifier ¥ 95d o @l
IavES wie g3 R 9 e s W R

R= -12 =5988 Q

s=hC

I-1

=4x10"3x15

6-4x1073

WY (S =0.01 Q) AReArdier ¥ TR B9 ¥ 991 ¢ T@ A R ey

¥ R @ ger & R TER 2 I g1 wafka et @ @ aR1 @ W@
7E W B Bl

=0.01Q
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